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81000 ci= ( 8.1 ) m

9405 cni= ( 0.9405 ) m
67900 cii= ( 6.79 ) m
7.2l m= ( 72100 ) cn
0.0238 m= ( 238 ) cn

50.43 m= ( 504300 ) cnm
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(OB [ iki=1000000m

105000 m= ( 0.105 ) kn

8570 m= ( 0.00857 ) kn
90100 m= ( 0.0901 ) km
0.802 k= ( 802000 ) m

0.005 km= ( 5000 ) m
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2.937 km= ( 2937000 ) m
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10200 ci= ( 1.02 ) m

6410ci= ( 0.641 ) m
270000 cii= ( 27 )
5.1 = ( 51000 ) orf
75 = ( 750000 ) of

0.205 m= ( 2050 ) cn
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(I8 [ 1wi=1000000m |

9438 m= ( 0.009438 ) kn

7600000 m= ( 7.6 ) kn
178000 m= ( 0.178 ) kn
53 ki= ( 53000000 ) m

0.418km= ( 418000 ) m
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0.9077 k= ( 907700 ) m
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|l m = | mX | m = | m
la = | OmX | Om = | OOm
| ha = lOO0OmX 1 00m = | 0O00O0m
lkm = 1 000OmX |1 000m=1000000m

(I | la=100n ]

® 1900m= ( 19 ) a @ 348 m= ( 3.48 ) a

@ 15000m= ( 150 ) «a
@ 9.4a= (C 940 ) m ® 0.29a= ( 29 ) m

® 60a= ( 6000 ) m

8 | ha= 1 00a ]

® 19000a= ( 190 ) ha @ 48a= ( 0.48 ) ha

@ 1520a0= ( 15.2 ) ha
@ 0.632ha= ( 63.2 ) a ® 0.02ha= ( 2 ) a

® |13ha= ( 1300 ) a
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|l m = | mX | m = | m
la = | OmX | Om = | OOm
| ha = lOO0OmX 1 00m = | 0O00O0m
lkm = 1 000OmX |1 000m=1000000m

(D | la=100n ]

@® 3000m= ( 30 )a @ 50m= ( 0.5 )a

@ 12000m= ( 120 ) «a
@ 7.6a= ( 760 ) m ® 9a=(C 900 ) m

® 0.37a=( 37 )m

(8 | ha= 1 00a ]

@® 840a= ( 8.4 ) ha @ 27a= ( 0.27 ) ha

® 4500a= ( 45 ) ha
@ 20ha= ( 2000 ) a ® 0.62ha= ( 62 ) a

® 0.04ha= ( 4 ) a
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® 430ha= ( 4.3 ) kn @ 8400ha= ( 84 ) kn

@ 650000ha= ( 6500 ) ki
@ 20.8km= ( 2080 ) ha ® 0.76km= ( 76 ) ha

® 350ki= ( 35000 ) ha

B (" 1ha=10000m |

@® 30900 nm= ( 3.09 ) ha

@ 600nm= ( 0.06 ) ha
® I16ha= ( 160000 ) md

@ 0.718ha= ( 7180 ) m

B (" 1w=10000a |

O 2084000 = ( 20.84 ) ki

@ 35a= ( 0.0035 ) kn
® 7.6l ki= ( 76100 ) a

@ 957 km= ( 9570000 ) a
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® 209ha= ( 2.09 ) km @ 1.45ha= ( 0.0145 ) kn

@ 3980ha= ( 39.8 ) kn
@ O0.54ki= ( 54 ) ha ® 617ki= ( 61700 ) ha

® 9.94ki= ( 994 ) ha

B (" 1ha=10000m |

@O 960000 m= ( 96 ) ha

@ 39400 nm= ( 3.94 ) ha
@ 0.62ha= ( 6200 ) m

@ 0.043ha= ( 430 ) m

B (" 1w=10000a |

@ 69400a0= ( 6.94 ) ki

@ 257a= ( 0.0257 ) kn
@ 30.6ki= ( 306000 ) a

@ 7.42kn= ( 74200 ) a



